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@ 1304 ® 4123

V170 = V1.7 x 102 = 10 V1.7 = 10 x 1.304 = 13.04
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2=Vi,4=+16

Vi< yi< VI6 & WESE A5 x e
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3.0 | 1,732 1,735 1,738 1,741

3.1 ] 1,761 1,764 | 1.766 1.769

3.2 | 1,789 1,792 1,794 1,797

3.3 | 1.817 1,819 1,822 1,825

3.4 | 1.844 1,847 1.849 1.852
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7. AFTEAA V2 = 1414, V20 = 4472 & o], 0.002 o] F&

“FobHA?
D 44.72 @ 0.1414 @ 0.4472
@0.04472 ® 0.01414
2 2 4.472
10.002 = 0__ v20 _ddr 0.04472

10000 100 100




>
> e 443-6

44 V3=5.xx0|B&

a=V3-1,b=5
2 2(V3+1)

a” (v3-1) (V3 +1)

ab—z =5(v3-1)-(V3+1)
=5v3-5-v3-1
=4V3-6

= V3+1
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(V2= V3 = (V2+ V3)* _ —2V6-2V6 _
(V2+V3)(v2-v3) -1
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2V5 = V20 ©]1,4 < V20 < 5 °| 2 &
a=4,b=2V5-40]|c}
na-b=4-(2V5-4)=8-25




